R E I

1025245 SRR3R A B AR ET R

B =k
T A |ESE
FEE A B 6l-
A NEL 31 50.00%
FHE B 3] 50.00%

— ~ HAM TR R ? (REEE]
2~ 3IEF > FOMHIEE )

— 2+
HEANE | Btk
EWTAE 3] 100.00%
B4y T B 0| 0.00%
FEMHERGE 0 0.00%
HAFEREE 0 0.00%
=~ RSRETIEBSEER R (T ?
— 2+
HEANE | Btk
SR EIE 0 0.00%
B 0| 0.00%
RHE ~ Biily - T2 - B 0 0.00%
DL T 0 0.00%
RARER ~ B EE 0 0.00%
BRI 3 100.00%
SR S EIE 0 0.00%
EEVRHE 0 0.00%
SR B 0 0.00%
SRS BT 0 0.00%
1TSS B 0 0.00%
BUFAHEBHE 0 0.00%
HE B SR 0 0.00%
{18 N\ et AR 8 0 0.00%
PRIIERED AR 0 0.00%
R A | 0 0.00%
= BERERERRES  Th GEEEIENE ?
— 2+
HEANE | Btk
= 0| 0.00%
& 3] 100.00%




0~ BSRAETEPEEA WA KM ? GEEERMATEE (&%) HlA - HiEEE
ARG B IERE  KEE - HHARNZIE (LE - &% X8 BEeEks
#gREH)

21
HE W | E5th

b 2|

LI E522,0007T 2L T 0.00%

&JBr=22,0017C%25,0007T 0.00%

KB =25,0017T228,0007T 0.00%

LT EE28,0017.4231,000T 0.00%

LI EEE31,0017T.4234,000T 0.00%

LT EEE34,0017T.4237,0000T 0.00%

&I EEE37,0017T.4240,0000T 0.00%

&I =40,0017T.243,0007T 0.00%

KB =43,001 7T 246,000 0.00%

LI EEE46,0017T.4249,000T 0.00%

LT EEE49,0017T.4252,0007T 0.00%

&I EEE52,0017T.4255,000T 0.00%

&I EEE55,0017T.4260,0007T 0.00%

LT 60,0017T.2265,0007T 0.00%

&I EEE10,0017T.275,0007T 0.00%

&I E15,0017T.4280,0007T 0.00%

LT 180,0017T.4285,0007T 0.00%

LT ER5,0017T.4290,0007T 0.00%

&I EE190,0017T.4295,0007T 0.00%

&I =Z195,0017T 2 100,0007C 0.00%

&I =100,001 7T 22110,0007T 0.00%

&I =110,0017t 2 120,0007T 0.00%

&I =120,001 7t 2 130,0007T 0.00%

&I =1130,001 7T 22 140,0007T 0.00%

&I =140,001 7T 2 150,0007T 0.00%

&I =150,001 7t 2 170,0007T 33.33%

&I =170,001 7 22190,0007T 33.33%

&I =190,001 7t 2210,0007T 0.00%

0
0
0
0
0
0
0
0
0
0
0
0
0
0
&I =65,0017C270,0007T 0 0.00%
0
0
0
0
0
0
0
0
0
0
0
1
1
0
0

LR 210,001T A 0.00%

T~ 5 AR T Y TAE AT iR By fr] 2

B

TR ==
HE | '5o
BN 3 100.00%
BN > GEHEER TIEEZR) of  000%

N~ HARBSREARR R fa?



2t

R HOE | EAL
T BT —
s R :
Fr— -
T :

Ol AR ~ AR

+ -~ WE AT A BN EERE NE TEFTERY
HRRTEE Bfe] ?

N B+

AR A | EAL
. T 3%
Fré 2l 66.67%
=] 0 0.00%
T5E 0 0.00%
RS o 000%

/> THENTAERE @ BEREAFHEESR ?

- 2+
HEANE | Btk
R 3] 100.00%
TR 0ol 0.00%
1~ S H A T AR RS R S R ] ?
- 2+
HEANE | Bt
JE 0| 0.00%
LD 2| 66.67%
i 1| 33.33%
T 0| 0.00%
Cliti VL 0ol 0.00%

+ - HANTEREEFERE A © AT - 241

EE 2 BT SRERE 0 HAEIEE A ?

N B+

AR A | EAL
JER o 000%
FERF 3 100.00%
| 0 0.00%
ENiErE: 0 0.00%
e o 000%




+— - CAERHIR LT TR BN
WAET/EAREE) ? (IHEE - £2%315)

HETH o
HENE | Bt
EEMIE - RIBEERY 2| 66.67%
A= E SN 2 66.67%
RN E TSR 1| 33.33%
RANESEE 0 0.00%
1HEEE) 0 0.00%
EE2E 0 0.00%
S PEAT &) 0 0.00%
BT - Bl 0 0.00%
WEAERATE BB B 2l 66.67%
H AR 0 0.00%

T BRERT IEREREERRRLEE
BEEH, > I ERERET ?

Bg
HENE | Btk
5 1| 33339%
-] )| 66.67%

+= - BRGREBEENESHER HEHFER
i ~ BRI T B T A i R B R 2

- 2t
EE N Bt
IEHE AR 0 0.00%
HEED 3 100.00%
i 0 0.00%
HEEY 0 0.00%
AR 0 0.00%

U~ RSN PR T BIRERAR(EER
ZRIVEZR)SN  FEIIGRER A DU NRERAE T4 REMK

FTAE ? (TR EE » 2%37F)
— 24
HENE | Bt

TEIFERE ) 1| 33.33%
Frag2ERe ) 1| 33.33%
N HBhRE 0 0.00%
E-SERE 0 0.00%
e AE 1| 33.33%
UGS 2 66.67%
TAESCHE ~ BT RURAS RS AL 0 0.00%




HEVEHE A AE 1| 33.33%
SheERES] 0 0.00%
Al 0 0.00%




